LABJNDuO triangle lightness T*
* =

T* Y=L w nc=100,

T*L aBaNDu9 =[IN[A 1n+A2YV)I/(A 20A0n)] (Yn/100<Y<=Y,c)
T#(3,6)=348.T* ,(18)=791,T*(90)=1231

1og[T*/T* =

a0 024
Tr3 6=347,89,1%) 7 n 01 Y= 18,
o =18

TaYaE36 TYy=90

LABJINDu9
tristimulus value difference
Yoc=L*w - nc=100,
T*LaBanDu9 =[NI(A 1n+A2a)I/(A 20A0n)] (Ync/200<Y<=Y,0)
dY=Agn(A1tAsnY)  Ap=0,017, A,=0,0058
Aon,pe5=1,5, Aon,a=1,0, see CIE 230:2019
Yg0=0,33, Ay=1,500, ¢=0,42
dY;g=0,07, A =0, 007 Agn 0,0024
dY3 60,02 Y,=18, dY=0,07

TH=79L dYZ0.07 dYY,=0.004% o

application
range

LY=18
Yw=90

log (AY/Y) LABJINDU9
_ tristimulus value sensitivity
SHEYY Yoc=L*w - nc=100,

T*LaBINDU9 =[IN[(A 1n+A2nY)J/(A 20A0n)] (Ya/100<Y<=Y,c)
AYIY=Agr A1 Az YY

(dY/Yy¢=0,0037, A=l

(dY/Y)§=0,0042, A =0 ,Ag
(dY/Y} 6=0,0066 Y, 1& dY=0,07

0, O

T application
log(dY/Y)E-2,37, m=-0,Tsa [EIE=
T*,=791, dY,=0,07, dY,/Y,=0, 0042 -

'Y,=18
Yy=90

Yn=3.6

LABJINDu9
tristimulus value contrast
Yo=L*w - 6 :ne=100,
T*LaBINDU9 =[IN[(A 1n+A2nY)J/(A 20A0n)] (Ya/100<Y<=Y,c)
YIAY=Y/[Agn(A1ntA2nY)]

(Y/dY}o=265,04, A=1,500, ¢=0,42

G
(Y/dY)g=235.34, An=0,007, A,=0,0024
(Y/dY} 150,85 Y, =18, dY=0,07

T*,=791, dY,=0,07, Y,/dY, =235
log(Y/dY)=2,37, m,= o 13-

log (Y/AY)
C,=(Y/AY)

- s Ry

application
range

Y,=18
s Yy =90

LABJINDu9 relative triangle lightness T*/T*,,

TEIT
Y=l ;6 :ne=100;

T,
T*LagaNDu9 =[IN[A 17+A2nY)V/(A20A0n)] (Ynd/100<Y<=Y,c)
T#(3,6)=348,T* ,(18)=791 T*,(90)=1231

T*odT*=L,55, Ay=1,500, =0,42
T*, 20,007, A= o 0024
T g TA=0,43 TX=791,01 Y1

log[T*/T*,]=0, m,=0,33
L* =49, T*,=791 1
1 application
f range
1y,=18
Yy =90

N=36

LABJNDu9 relative

tristimulus value difference

Yoe=L*w ~ ne=100,

T*Laganbuo =[IN[A 1n+A2nY)V/(A 20A0n)] (Ynd/100<Y<=Y,c)
AY/dY,=AgnA 11+AanYY/dY,

log (A YIAY,)
AYIAY,

dYeg/dY,=4,43, Ay=1,500, ¢
Y, g/dY,= =0,007, Az =o,oo
dYsdY,=0,31 Y, 18, dY=0,07

T* =791, dY,=0,07, dY,/Y,=0,032%

log [(AY/Y) I (AYIY)] LABJINDUY relative
tistimulus value sensitivity

SSu=@YMIBYN)y . =\, - =100,
T*LABINDu9 =[IN[(A 1n+A2nY)J(A 2nA0n)] (Yd/100<Y<=Yc)
(@YIYYAYY,=(AgitAg Y)Y (AYIYY]

(AY/Y)g/(dY/Y)=0,88, Ay=1,500, 6=0,42
(YY) g/(dY/Y=1,00. An=0.007, A,=0,0024
(dY/Y%i/(dY/Y‘L 56 ¢1H_1& dy= Term

Togl@YIYY(EYYLJ=0, m=-0.13 ¥ .
T*,=791, dY,=0,07, d¥,/Y,=0,0042] ?g’%‘ga‘“’”
1y,=18
=Clp log

Yn=3.6
log [(Y/AY) I (YIAY),] LABJINDU9 relative
tistimulus value contrast
CrlCr=(YIAVI(YIAY)y v 21'% > 100,

T*Laganbuo =[IN[A 1n+A2nY)V/(A 20A0n)] (Yn/100<Y<=Y,c)
(YIAYYYIAY ) =(YIYIAY L) A oAt Aan VI (Y/AY),
(YIdYhg/(Y/dY)=1,12, Ay=1,500, ¢=0,42
(VY (YIGY)=1.00; Ar=0,007, A,=0,0024
(Y/dY%vd(Y/dY =0,64 Y,=18, d\ﬂ—

1
1 application
1 range
'y,=18

Yy =90




